H & 0l & AHS B Ml A

SA QIASAL
M DHUS QIAMEY FX
el QIRAES LSt (SH9 H2)
SA-3Y - SRA(SAH) - MRAY - BES Off &K & A HusZ
QIS A 464,387 421,202 43,185
= 25,631 15,573 10,058
T 438,756 405,629 33,127
DAL s QMY F 347,412 311,190 36,222
= 25,631 15,573 10,058
- 321,781 295,617 26,164
IHAHS LS} 148,079 121,915 26,164
MEE CIANF 2= 78,268 52,104 26,164
201 Zet2& 49,268 48,104 1,164
02 3323l 16,967 15,803 1,164
ORQIBIAEZI| ME3d Al2R 11,808 10,644 1,164
CRASU==RFH ROI0IAUZI|
194,000 62 1,164 0 1,164
405 XHAHE SHI 29,000 4,000 25,000
01 AL =S F=H| 29,000 4,000 25,000
ORelgiaezgll 7Y
24,000,000 »1CH 24,000 0 24,000
OdlEssaelta)]
1,000,000 *1CH 1,000 0 1,000
HNERANSENC 2EE 24 15,573 15,573 0
= 15,573 15,573 0
JIIEZASEAD Hel & SEM &2 15,573 15,573 0
= 15,573 15,573 0
201 L= 15,573 15,573 0
= 15,573 15,573 0
01 At22te|bl 14,670 14,670 0
OJlzge8 At=2l|
Z& 2,090,000 2,090 1,130 960
= 2,090 1,130 960
OJl=gR=+8 =&l
ZE 8,000&+341x4H 23 192 1,152 2960
= 192 1,152 A960
o - JISAR =& 183,760 173,702 10,058
= 10,058 0 10,058
T 173,702 173,702 0
MR &8s 24 12,658 2,600 10,058
= 10,058 0 10,058
- 2,600 2,600 0
201 LBH2 I 12,658 2,600 10,058
= 10,058 0 10,058
T 2,600 2,600 0
01 AFS2t2ltl 12,658 2,600 10,058
OXtMItE EXHOA HH HI=
10,058,000 10,058 0 10,058
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SA: URASA
m: DUAS plAWE XX
el O - JISAMR =X (SH9 H2)
SN - B SRA(BH) - HPAY - BES 0l Ary ol 8 o HimE=ET
| 1] = 10,058 0 10,058
BH2HALI(ARZAID) 116,110 110,012 6,098
olet2 oty P, 485 87,827 4,658
=2 2R o) 54,140 50,627 3,513
101 Q1218] 54,140 50,627 3,513
02 JIEFR 2% 54,140 50,627 3,513
Ol (eI 82)
23 43,912,002 43,912 40,537 3,375
Ot At
2E 41,551,0002%1/1250.84+0.86+1/30x 172
1.418 1,383 %
OARteI224g
AT 10,416234A1 2122 4,250 4,147 103
SAAS 22| oleed 38,345 37,200 1,145
101 1218] 38,345 37,200 1,145
03 B2 (DI %) 22 XS 38,345 37,200 1,145
OJl=3(85E) 2 2,490,802+ 122 29,884 29,384 500
020234 J123 238 41,2002 112 454 0 454
SEEES[] A 2,490,280 +80% 1,9 1,959 %
02023 HEEIIH| 222 32,9902 33 0 3
ORI+
AF 13,9122:8AI1 24+ 18 2,004 1,968 %
SENRE AW 3,341,560 40% 1,387 1,249 88
o= 23,625 22,185 1,440
A2 23,625 22,185 1,440
201 LEH2 | 9,945 8,505 1,440
01 AR 22|H| 9,945 8,505 1,440
OJl=gie4s Sa|
A (8,002 %34 x 15«62 )+(8, 0008541
152162 ) 5,760 4,320 1,440
WL s (ASA) 865 0 865
ESNE 865 0 865
EEEE 865 0 865
802 EHet 2| E} 865 0 865
01 FnExEZEE3 865 0 865
ON=AHESANLTE 496,330 4% 0 4%
OINEZHSEAMSTL (01X
78,9202 79 0 79
OCIZAIS CHED 2t 289,710 290 0 290




